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Scheme S1.  Ionic complexation to obtain (a) [H2Pc-Cu(II)Por]4+·[Cu(II)TPPS]4– and 

(a) [Cu(II)Pc- H2Por]4+·[Cu(II)TPPS]4–.
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MALDI-TOF MS (positive) 

 Figure S1.  MALDI-TOF mass spectra of [H2Pc-Cu(II)Por]4+·4Cl– (M for [[H2Pc-

Cu(II)Por]4+ –3H]+ = C220H275N20O48P4Cu).
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Figure S2.  MALDI-TOF mass spectra of [Cu(II)Pc-H2Por]4+·4Cl– (M for [[Cu(II)Pc-

H2Por]4+ –3H]+ = C220H275N20O48P4Cu).
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Figure S3.  MALDI-TOF mass spectra of [Cu(II)Pc-Ag(II)Por]4+·4Cl– (M for 

[[Cu(II)Pc-Ag(II)Por]4+ – 3H+]+ = C220H273AgCuN20O48P4).

Figure S4.  ESI-TOF mass spectra of [H2Pc-Cu(II)Por]4+·[Cu(II)TPPS]4– (M for 

[[H2Pc-Cu(II)Por]4+·[Cu(II)TPPS]4– + 3Na]3+ = C264H302N24O60P4S4Cu2Na3).

4



Figure S5.  ESI-TOF mass spectra of [Cu(II)Pc-H2Por]4+·[Cu(II)TPPS]4– (M for 

[[Cu(II)Pc-H2Por]4+·[Cu(II)TPPS]4– + 3Na]3+ = C264H302N24O60P4S4Cu2Na3).
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Parameters for the simulations in Figure 3.

(a)

S=1/2

g=[2.025, 2.025, 2.171]

ACu=[3.5, 3.5, 21.0]  / mT

AN=[1.74, 1.74, 1.74], AN=[1.74, 1.74, 1.74], AN=[1.74, 1.74, 1.74], AN=[1.74, 1.74, 

1.74]  / mT

(b)

S=1

g=[2.050, 2.050, 2.098]

D=42.8 / mT, E=0.0 / mT

ACu=[1.25, 1.25, 10.8]  / mT

(c)

S=1

g=[2.050, 2.050, 2.098]

D=44.8 / mT, E=0.0 / mT

ACu=[1.25, 1.25, 10.8],  ACu=[1.25, 1.25, 10.8]  / mT

+

S=1/2

g=[2.035, 2.045, 2.195]

ACu=[3.5, 3.5, 21.0]  / mT

AN=[1.74, 1.74, 1.74], AN=[1.74, 1.74, 1.74], AN=[1.74, 1.74, 1.74], AN=[1.74, 1.74, 

1.74]  / mT

(d)

S=1/2

g=[2.059, 2.059, 2.157], g=[2.047, 2.047, 2.186]

ACu=[1.7, 1.7, 20.0], ACu=[3.0, 3.0, 21.0] / mT

AN=[1.86, 1.86, 1.86], AN=[1.86, 1.86, 1.86], AN=[1.86, 1.86, 1.86], AN=[1.86, 1.86, 

1.86]  / mT
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AN=[2.00, 2.00, 2.00], AN=[2.00, 2.00, 2.00], AN=[2.00, 2.00, 2.00], AN=[2.00, 2.00, 

2.00]  / mT
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